STYKLISTE

Side 1

MODEL BMR103B
Pos. Art.nr. Betegnelse Stk. Note
001 SE00000213 ELEKTRONIK (BMR103) 1
002 SE00000193 SKRUE M3x10 (BMR102) 3
003 SE09163102 SCHRAUBE M3x10 3
004 SE00000217 ELEKTRONIKBAUSTEIN A KPL. 1
005 SE00000193 SKRUE M3x10 (BMR102) 2
007 SE00000218 ELEKTRONIKBAUSTEIN C KPL. 1
008 SE09163102 SCHRAUBE M3x10 7
009 SE09090011 SCHRAUBE 1,7 6
010 SE00000234 TASTERLEISTENHALTERUNG 1
011 SE00000235 TASTERLEISTE 1
012 SE09090011 SCHRAUBE 1,7 6
013  SE00000236 TASTERLEISTENHALTERUNG 1
014 SE00000237 TASTERLEISTE 1
015 SE00000238 SCHRAUBE M2.6 2
016  SE00000239 LINSENHALTER 1
017  SE00000240 ABSTANDSHALTER 2
018 SE09064161 SCHRAUBE M4x16 1
019 SE00000241 FRONTKABINET (BMR103B) 1
020 SE09064161 SCHRAUBE M4x16 1
021 SE09163102 SCHRAUBE M3x10 3
022 SE09064161 SCHRAUBE M4x16 1
023 SE09163102 SCHRAUBE M3x10 3
024 SE09064161 SCHRAUBE M4x16 1
025 SE00000242 ST@DBESKYTTER (BMR103) 1
026 SE00000160 SKRUE PTHE6x47(CR) (BMR102) 4
027 SE0338PC5Z FRONTBUEGEL 2
028 SE21B1110A RING 1
029 SE00000243 EINSTELLKNOPF 1
030 SE00000244 AFDAKNING (BMR103) 1
031 SE09173106 SECHSKANTSCHRAUBE M3x10 1
032 SE09176166 6KT SKRUE M6x16 (BMR100) 2
033 SE00000162 BATTERIDAKSEL BESKYTTER 1
034 SE09176166 6KT SKRUE M6x16 (BMR100) 2
035 SE00000165 ST@DBESKYTTER (BMR102) 1
036 SE00000245 BATTERIEFACHDECKEL 1
037 SE09163102 SCHRAUBE M3x10 2
038 SE00000168 PAKNING (BMR102) 1
039 SE00000169 B@JLE (BMR102) 1
040 SE00000170 FJEDER (BMR102) 1
041 SE00000171 FJEDER (BMR102) 1
042 SE09163102 SCHRAUBE M3x10 2
043 SE00000246 FEDERHALTER LINKS 1
044 SE09163102 SCHRAUBE M3x10 2
045 SE00000247 FEDERHALTER RECHTS 1
046 SE00000248 BATTERIEFACHDECKEL MIGNON 1
047 SE021E9030 BATTERIEKONTAKT(+/-) 1
048 SE021E9020 BATTERIEKONTAKT(-) 1
049 SE021E9010 BATTERIEKONTAKT(+) 1
050 SE00000176 SKRUE PTHE6x20(CR) (BMR102) 1
051 SE00000249 GREBHOLDER R (BMR103) 1
052 SE00000179 GREB (BMR102) 1
053 SE00000250 GREBHOLDER L (BMR103) 1
054 SE00000176 SKRUE PTHE6x20(CR) (BMR102) 1
055 SE09176166 6KT SKRUE M6x16 (BMR100) 1
056 SE00000184 FJEDER (BMR102) 2
057 SE09994007 STALKUGLE (BMR100) 2
058 SE09994007 STALKUGLE (BMR100) 2
059 SE00000184 FJEDER (BMR102) 2
060 SE09176166 6KT SKRUE M6x16 (BMR100) 1
061 SE00000190 LAS F. BATTERIDAKSEL 1

1

062

SE021PCO050 STIFT 63,8




STYKLISTE

MODEL BMR103B

Pos. Art.nr. Betegnelse

Stk.

Note

Side 2

063 SE021PC040 STIFT 79,5

064 SE00000067 LASEPLADE B (BMR100)

065 SE00000251 IPOD-ANSCHLUSSABDECKUNG
066 SE00000252 FORBINDELSE IPOD (BMR103B)
067 SE00000253 ELEKTRONIK G IPOD (BMR103)

068 SE00000254 HALTER

069 SE00000255 SCHRAUBE M2

070 SE09163452 SCHRAUBE M3x45
071 SEO00000191 ANTENNE (BMR102)
072 SE021J9032 ANTENNENHALTER

073 SE024J9050 DICHTUNG

074 SE00000192 GREBPLADE (L) BMR102
076 SE00000258 KABINET (BMR103)

077 SE00000187 GREBPLADE (R) (BMR102)
078 SE09163452 SCHRAUBE M3x45

079 SE021PC030 WELLE FUER BATTERIEFACHDECKEL
080 SE9076146A 6KT SKRUE M6x14 (BMR100)

081 SE024J9040 DICHTUNGSRING

082 SE00000259 LAUTSPRECHERABDECKUNG

083 SE024J9090 DICHTUNGSRING

084 SE09090023 SCHRAUBE M4x12

085 SE024J9070 PAKNINGSRING (BMR100)
086 SE01620771 H@JTTALER (BMR100)
087 SE024J9030 DICHTUNG

088 SE00000193 SKRUE M3x10 (BMR102)

089 SE021PC100 ANSCHLUSS

090 SE021P0020 MUTTER

091 SE024J9030 DICHTUNG

092 SE01620771 HGJTTALER (BMR100)
093 SE024J9070 PAKNINGSRING (BMR100)

094 SE09090023 SCHRAUBE M4x12

095 SE024J9090 DICHTUNGSRING

096 SE00000259 LAUTSPRECHERABDECKUNG
097 SE024J9040 DICHTUNGSRING

098 SE9076146A 6KT SKRUE M6x14 (BMR100)

099 SE021J9010 LAUTSPRECHERHALTERUNG
100 SE00000261 KONTAKTPLADE (BMR103)
101 SE023PCO000 DISTANZPLATTE

102  SE020PC050 GLEITBSTUEK

103 SE09163102 SCHRAUBE M3x10

104 SE024PC040 DICHTUNG

105 SE00000199 SKIVE (BMR102)

106 SE00000193 SKRUE M3x10 (BMR102)

108 SE00000193 SKRUE M3x10 (BMR102)

109 SE00000262 KONTAKTKLEMME (BMR103)

110  SE020PC040 KONTAKTKLEMMENHALTER
111 SE09163102 SCHRAUBE M3x10

113 SE09163102 SCHRAUBE M3x10

114  SE00000199 SKIVE (BMR102)

115  SE00000193 SKRUE M3x10 (BMR102)

116 SE021J9010 LAUTSPRECHERHALTERUNG
117 SE00000200 ELEKTRONIK C (BMR102)

118  SE09163062 SCHRAUBE M3x6

119  SE00000195 W/TIES 100MM (BMR102)

AO1 SE00000101 ADAPTER (BMR103B)

A NN A aAla A AN AaAAa N A AN A a2 alA DN aBNMNABAMAAAAN-2 DM ADAM-AaADMDN Al A A aalaa apNNAajla a a a o




EKSPLOSIONSTEGNING

Side 1

MODEL BMR103B




